
��� ���
(��� �	��
 10:15 11:45 ��
���� ��� � �������

1. f(z) =
z

(2z + 1)(z − 2)

������ "!
Taylor #%$'&�(*),+ Laurent #%$�-/."021 .

35476
f(z) =

z

(2z + 1)(z − 2)
=

1

5

(

1

1 + 2z
−

1

1 − z

2

)

(1)

8:9�;*;�<*;�=�>	?�@:A
3CBD6 1

1 − x
,

1

1 + x E x = 0 FHG > E Taylor IKJ7L7M�N EKOQPSR�T @VU x ≤ 1)
A

1

1 − x
= 1 + x + x2 + x3 + · · · + xn + · · · (2)

1

1 + x
= 1 − x + x2 − x3 + · · · + (−1)nxn + · · · (3)

i). z = 0 (/WVXZY |z| ≤
1

2
,

1

2
≤ |z| ≤ 2, 2 ≤ |z|

!�[	\^]
.

_ |z| ≤ 1

2 E 8�?
|2z| ≤ 1, |

z

2
| ≤ 1 O G 6

1

1 + 2z
= 1 + (−2)z + (−2)2z2 + · · · + (−2)nzn + · · · =

∞
∑

k=0

(−2)kzk (4)

1

1 −
z

2

= 1 +

(

1

2

)

z +

(

1

2

)2

z2 + · · · +

(

1

2

)n

zn + · · · =
∞
∑

k=0

(

1

2

)k

zk (5)

O�`ba 6
f(z) =

1

5

(

∞
∑

k=0

(−2)kzk −
∞
∑

k=0

(

1

2

)k

zk

)

(6)

=
1

5

∞
∑

k=0

(

(−2)k −

(

1

2

)k
)

zk (7)



_ 1

2
≤ |z| ≤ 2 E 8c?

|
1

2z
| ≤ 1, |

z

2
| ≤ 1 O G 6

1

1 + 2z
=

1

2z

1

1 +
1

2z

(8)

=
1

2z

(

1 +

(

−
1

2

)

1

z
+

(

−
1

2

)2 1

z2
+ · · · +

(

−
1

2

)n 1

zn
+ · · ·

)

(9)

=
1

2z

∞
∑

k=0

(

−
1

2

)k 1

zk
= (−1)

∞
∑

k=0

(

−
1

2

)k+1 1

zk+1
(10)

1

1 −
z

2

=
∞
∑

k=0

(
1

2
)kzk (11)

O�`ba 6
f(z) =

1

5

(

−
∞
∑

k=0

(

−
1

2

)k+1 1

zk+1
−

∞
∑

k=0

(

1

2

)k

zk

)

(12)

= −
1

5

∞
∑

k=0

(

(

−
1

2

)k+1 1

zk+1
+

(

1

2

)k

zk

)

(13)

_ 2 ≤ |z| E 8�?
|
1

2z
| ≤ 1, |

2

z
| ≤ 1 O G 6

1

1 + 2z
=

1

2z

1

1 +
1

2z

= (−1)
∞
∑

k=0

(−
1

2
)k+1 1

zk+1
(14)

1

1 −
z

2

= −
z

2

1

1 −
2

z

(15)

= −
2

z

(

1 + 2
1

z
+ 22 1

z2
+ · · · + 2n

1

zn
+ · · ·

)

(16)

= −
2

z

∞
∑

k=0

2k
1

zk
= (−1)

∞
∑

k=0

2k+1 1

zk+1
(17)

O�`ba 6
f(z) =

1

5

(

−
∞
∑

k=0

(

−
1

2

)k+1 1

zk+1
+

∞
∑

k=0

2k+1 1

zk+1

)

(18)

= −
1

5

∞
∑

k=0

(

(

−
1

2

)k+1

− 2k+1

)

1

zk+1
(19)



ii). z = −
1

2
(dWeXfY |z +

1

2
| ≤

5

2
, |z +

1

2
| ≥

5

2

!�[^\^]
.

f(z) =
z

(2z + 1)(z − 2)
=

1

5

1

1 + 2z
−

1

5

1

1 − z

2

(20)

=
1

10

1

z + 1
2

−
4

25

1

1 − 2
5

(

z + 1
2

) (21)

_ |z +
1

2
| ≤

5

2 E 8g?
∣

∣

∣

∣

2

5

(

z +
1

2

)∣

∣

∣

∣

≤ 1 O G
1

1 − 2
5

(

z + 1
2

) = 1 +
2

5

(

z +
1

2

)

+

(

2

5

)2 (

z +
1

2

)2

+ · · · (22)

=
∞
∑

k=0

(

2

5

)k (

z +
1

2

)k

(23)

O�`ba 6
f(z) =

1

10

1

z + 1
2

−
4

25

∞
∑

k=0

(

2

5

)k (

z +
1

2

)k

(24)

=
1

10

(

z +
1

2

)

−1

−
∞
∑

k=0

(

2

5

)k+2(

z +
1

2

)k

(25)

_ |z +
1

2
| ≥

5

2 E 8g?
∣

∣

∣

∣

∣

5

2

1

z + 1
2

∣

∣

∣

∣

∣

≤ 1 O G
1

1 − 2
5

(

z + 1
2

) = −
5

2

1

z + 1
2

1

1 − 5
2

1
z+ 1

2

(26)

= −
5

2

1

z + 1
2

(

1 +
5

2

1

z + 1
2

+

(

5

2

)2 1

(z + 1
2)2

+ · · ·

)

(27)

= −
5

2

1

z + 1
2

∞
∑

k=0

(

5

2

)k 1

(z + 1
2)k

(28)

= (−1)
∞
∑

k=0

(

5

2

)k+1 1

(z + 1
2)k+1

(29)

O�`ba 6
f(z) =

1

10

1

z + 1
2

+
4

25

∞
∑

k=0

(

5

2

)k+1 1

(z + 1
2 )k+1

(30)

=
1

10

(

z +
1

2

)

−1

+
∞
∑

k=0

(

5

2

)k−1(

z +
1

2

)

−(k+1)

(31)

=
1

10

(

z +
1

2

)

−1

+
2

5

(

z +
1

2

)

−1

+
∞
∑

k=1

(

5

2

)k−1(

z +
1

2

)

−(k+1)

(32)

=
1

2

(

z +
1

2

)

−1

+
∞
∑

k=0

(

5

2

)k(

z +
1

2

)

−(k+2)

(33)



2. f(z) =
sin πz

z − 1
- z = 1 (/WhXiY Laurent #,$'j%1 .

sin πz
!

z = 1 (/WeX ! Taylar #2$k+  "! 1ml5nQomp7q
sin πz = −π(z − 1) +

π3

3!
(z − 1)3 −

π5

5!
(z − 1)5 + · · · (34)

=
∞
∑

k=0

(−1)(k+1)π2k+1

(2k + 1)!
(z − 1)2k+1 (35)

1^r � &
f(z) =

1

z − 1
sin πz (36)

=
1

z − 1

∞
∑

k=0

(−1)(k+1)π2k+1

(2k + 1)!
(z − 1)2k+1 (37)

=
∞
∑

k=0

(−1)(k+1)π2k+1

(2k + 1)!
(z − 1)2k (38)


